e Die Ahassides 2,2,4,4,9,09.
e DieBhassides1,1,6,86,8,8.
e Die Chassides 3,3,5,5,7,7.
Casel
B=1 ‘ B=6 B=8
A\C 3 5 7 A\C 3 5 7 A\C 3 5 7
2 C C C 2 C->B C->B C 2 C->B C->B C->B
4 A C C 4 A->B C->B C 4 A->B C->B C->B
9 A A C 9 A A C 9 A A C
7 A’s, 10 B’s, 10C’s
Case?
A=2 A=4 A=9
B\C 3 5 7 B\C 3 5 7 B\C 3 5 7
1 C C C 1 C->A C C 1 C->A C->A C->A
6 B B C 6 B B C 6 B->A | B->A | C->A
8 B B B 8 B B B 8 B->A | B->A | B->A
10A’s, 10 B’s, 7 C’s
Case3
C=3 C=5 c=7
B\A 2 4 9 B\A 2 4 9 B\A 2 4 9
1 A->C A A 1 A->C A->C A 1 A->C A->C A
6 B B A 6 B B A 6 B->C B->C A
8 B B A 8 B B A 8 B B A

10A’s, 10B’s, 7 C’s




